
STANDARD INSTALLATION
Closer mounted on door on pull side

CLOSING  POWER  ADJUSTMENT

Arrow toward hinge edge
-for regular power

Arrow away from hinge edge
-for maximum powerArrow mark

Arm shoe

RIGHT HAND DOOR shown,Same
dimensions apply for left hand door
measured from hinge edge.

Arrow mark

CLOSING  POWER  ADJUSTMENT
dimensions apply for right hand door
LEFT HAND DOOR shown,Same

Arrow away from hinge edge
-for maximum power

-for regular power
Arrow toward hinge edge

Arm shoe

measured from hinge edge.

Main armMain arm

Elbow

Locknut

Forearm  

Elbow

Forearm  

Locknut

POSITION OF ARMS AND INDEX SETTINGS

1 4

3

2

Right hand door. Use index mark 4

 index mark 

1
2 3

4

 index mark 

Left hand door. Use index mark 1

Speed regulating screw
toward hinge edge of door

31/32"(1    ) 31/32"(1    )

4-#10 wood
or M5X0.8(10X40) Machine screws

Cover cap

Back Check

or M6X1.0(1/4X20) Machine screws
2 holes for #14 wood

Arm screw and lockwasher

Arm shoe

Shaft

TOP JAMB INSTALLATION
Closer mounted on top jamb on push side of door.

Left hand door. Use index mark 1

1
2

Right hand door. Use index mark 4

Forearm  

 index mark 

Forearm  

Elbow Elbow  index mark 

4

POSITION OF ARMS AND INDEX SETTINGS

LocknutMain arm3

4 Locknut Main arm

1
2 3

toward hinge edge of door
Speed regulating screw

(1    )31/32"

or M5X0.8(10X40) Machine screws
4-#10 wood

(1    )31/32"

Cover cap

Arm screw 

or M6X1.0(1/4X20) Machine screws
2 holes for #14 wood

Arm shoe

Closer mounted on door on pull side
PARALLEL ARM INSTALLACTION

2-M6x1.0(1/4"X20)
Machine Screws

4-#10 wood or
M5X0.8(10X40) Machine screws(1    )31/32"

Speed regulating screw
away from hinge edge of door

Back Check

Shaft

Parallel Bracket
(Option)

for opening to 160°-64(2   ) 1/2"

for opening to 160°-141(5   ) 9/16"

This is a LEFT HAND DOOR

Pull Side of Door

Push Side of Door

This is a RIGHT HAND DOOR

Push Side of Door

Pull Side of Door

CHART FOR HAND OF DOOR

Using a wrench on the square shaft on bottom
of closer,  rotate  shaft  approximately  45°
toward hinge edge of door, Hold and place
main arm on shaft on top of closer at proper in-
dex  mark  as  illustrated. FOR  LEFT  HAND
DOOR  NO. 3  (illustration "A").  FOR  RIGHT
HAND DOOR NO. 2 (illustration "B"). Tighten
arm screw with lockwasher securely.

SPRING POWER & VALVE ADJUSTMENT

from parallel with door
Adjust Main 2° or 3° 

measured from hinge edge.

LEFT HAND DOOR shown,Same
dimensions apply for right hand door

Fold H
ere

and set to hinge edge
of door for opening
0° TO

 160°

set to top of door

Top jam
b of fram

e

S
tandard Installation Tem

plate
For R

ight H
and D

oors
M

ounted on door on pull side

C
U

T O
FF H

ER
E FO

R
 TEM

PLATE

Latching speed regulating
2#screw

C
losing speed regulating

valve screw

1#

A
rrow

 M
ark

0°
 T

O
 1

60
°

of
 d

oo
r f

or
 o

pe
ni

ng
an

d 
se

t t
o 

hi
ng

e 
ed

ge
Fo

ld
 H

er
e

se
t t

o 
to

p 
of

 d
oo

r

To
p 

ja
m

b 
of

 fr
am

e

C
U

T 
O

FF
 H

ER
E 

FO
R

 T
EM

PL
AT

E

S
ta

nd
ar

d 
In

st
al

la
tio

n 
Te

m
pl

at
e

Fo
r L

ef
t H

an
d 

D
oo

rs
M

ou
nt

ed
 o

n 
do

or
 o

n 
pu

ll 
si

de
va

lv
e 

sc
re

w
C

lo
si

ng
 s

pe
ed

 re
gu

la
tin

g

La
tc

hi
ng

 s
pe

ed
 re

gu
la

tin
g

1# sc
re

w

2#

A
rr

ow
 M

ar
k

A. CLOSING RANGE 160°-15°
B. LATCHING RANGE 15°-0°
C. BACKCHECK RANGE 70°-160°

A

B

C

CLOSING VALVE SCREW (160°-15°)
LATCHING VALVE SCREW (15°-0°)

ADJUSTABLE BACKCHECK VALVE SCREW 

(standard). CLOCKWISE TURNS INCREASE THE
CUSHIONING AFFECT, COUNTERCLOCKWISE
TURNS DECREASE THE CUSHIONING AFFECT.

DRESS PLATE HOLDER-INSERTED IN ONE OF THE
UNUSED FIXING HOLES

SPINDLE CAP

POWER ADJUSTMENT SCREW, USE 4mm HEXAGON WRENCH PROVIDED CLOCKWISE TURNS
INCREASE THE CLOSING FORCE, COUNTERCLOCKWISE TURNS DECREASE THE CLOSING FORCE

POSITION OF ARMS AND INDEX SETTINGS

Main Arm

2
1

3 4

 Index Mark 

3

1
4

2

Main Arm
 Index Mark 

Left hand door,
use index mark 3
ILLUSTRATION "A"

Forearm Forearm

use index mark 2
ILLUSTRATION "B"

Right hand door,

SLOWER

FASTER

Arm Screw and
Lockwasher

M6X1.0(1/4X20) machine screws
4 holes for #14 wood or

Parallel Bracket

and lockwasher

(8   )1/2"

(1  )3/4"

(1
  
)

3
/4

"

3/4"(8   )

(7
/1

2
")

1
/6

"
(1

  
)

Reveals of 70(2    ) to 127(5") requires long top jamb forearms.3/4"

Back Check

Shaft

1/2"(8   )

(2   )3/4"

Max

(1
  
)

3
/4

"
(1

  
)

1
/6

" (7
/1

2
")

3/4"(8   ) 3/4"(1  )

(1    )31/32"

5/8"(2  )

(1  )3/4"

(3")

(1   )7/12"

(5/16")(3/4")

SIZE NO.OF TURNS DIRECTION
2
3
4

6

5
0

COUNTERCLOCKWISE
FACTORY FRESET
CLOCKWISE

DECREASE INCREASE

(see table below)

SURFACE MOUNTED CLOSER
ADJUSTABLE SIZE 2-4

metric (inch) systemIRSS Briton DOOR CLOSER - BNT220 Series

IR


